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IL.1 ~ Arandom variable X is said to have a normal distribution, with parameters

(1, 0) ,where o>0 ,if X has probability density function (PDF):

1 ey 2
f(X)=mae L) (20) (IL1-1)

Provethat [~ f(x)dx=1 (20%)

I12  LetAand B be similar nxn matrices with 4=C™' BC . Prove that if v is an
eigenvector of A associated with the eigenvalue A , then Cv is an eigenvector of

B associated with the eigenvalue A . (15%)

II.3 Describe a procedure (in pseudo-code or natural language) to find a numerical
solution of the following non-linear equation: (show all related mathematic work,

if there is any) (15%)
tan (xL)—xL=0 (I1.3-1)
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